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QUESTION 1

How many tiers of pattern matching can a packet pass through during IPS inspection?
A2

B.1

C.5

D.9

Correct Answer: A

QUESTION 2

What is the kernel process for Content Awareness that collects the data from the contexts received from the CMI and
decides if the file is matched by a data type?

A. dlpda

B. dipu

C. cntmgr

D. cntawmod

Correct Answer: D

QUESTION 3

In Security Management High Availability, if the primary and secondary managements, running the same version of
R80.x, are in a state of “Collision\\', how can this be resolved?

A. Administrator should manually synchronize the servers using SmartConsole

B. The Collision state does not happen in R80.x as the synchronizing automatically on every publish action

C. Reset the SIC of the secondary management server

D. Run the command “fw send synch force\\' on the primary server and “fw get sync quiet\\' on the secondary server

Correct Answer: A

QUESTION 4
What is the best way to resolve an issue caused by a frozen process?

A. Reboot the machine
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B. Restart the process

C. Kill the process

D. Power off the machine

Correct Answer: B

QUESTION 5
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Which process is responsible for the generation of certificates?

A.cpm
B. cpca
C. dbsync D. fwm

Correct Answer: B
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